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Tustructions to the cowuidutes:

i 1y Figures 1o iite right indicate
|

O7) Attemptany cig N)\\'ing: R i=R,

a) 5 every node with minimum two child nodes™. St

b)
¢)

¢ datastructure us;dfto implement depth first search (DFS) ol

oraph.
Vhat is complete binary tree? "

) Define : balance factor.

g)  Write properties of a good hash function.

Q h)  Write any two applications of graph. .~
Q iy  “Complete graph contains n(n—1)/2 numbes of edges™. State true/fulse,

B What is synonym of Hashing?
BTO.

*




wrempt any four of the following. [4x2=8]

(j]
&

2y What is splay tree?

d)  Show the stepggiier
15,30, 20, 51
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A lt;\pt any two of the following.™ % [274=8]
Construct red black tree for the following.
50, 40. 30, 20. 10.35. 5 '

by Wirite a recursive function in "¢’ to display and count {eaf nodes of'®

0 binary scarch tree.
¢} Consider the following graph:
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iy Draw Adjacency List

i 2 Yool i) Write BFS and DFS traversal
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4) Attemptany iwo of the following.
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Write a ‘¢’ function to insert a node |

a)

! ns‘ rut AVL tree for the fol
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Use divisionmetio
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